NHdopmaumsa no auctaHumam (1 Hoabps 2020r.)

o -3

2 3 3 & R

x 2 z x 5 8

g 8 g ® o 3

G ) s 5 © S

2 o = 8 g

2 5 = z

-] -] o~
M10 2,0 xm 10 KI (3a 2 kpyra) 1:4000 11:39 60 MUHYT
X10 2,0 km 10 KI (3a 2 kpyra) 1:4000 11:39 60 MUHYT
M12 2,6 xm 12 KI (3a 2 kpyra) 1:4000 11:36 60 MUHYT
X112 2,6 xm 12 KI (3a 2 kpyra) 1:4000 11:36 60 MUHYT
M14 'E 3,8 km 15 KI1 (3a 2 kpyra) 1:4000 11:45 60 MUHYT
X14 ﬁ 3,8 km 15 KI1 (3a 2 kpyra) 1:4000 11:45 60 MUHYT
M16 O 4,3 km 19 KI (3a 2 kpyra) 1:4000 11:42 70 MUHYT
X16 ’§ 3,8 kM 15 KI (3a 2 kpyra) 1:4000 11:45 70 MUHYT
M18 =] 6,0 km 20 KI (3a 2 kpyra) 1:4000 11:30 70 MUHYT
K18 o 4,3 kM 19 KI (3a 2 kpyra) 1:4000 11:42 70 MUHYT
M21 - 6,0 km 20 KIN (3a 2 kpyra) 1:4000 11:30 70 MUHYT
w21 = 6,0 kM 20 KI (3a 2 kpyra) 1:4000 11:30 70 MUHYT
M30 E 6,0 km 20 KI (3a 2 kpyra) 1:4000 11:30 70 MUHYT
XX30 o 4,3 km 19 KN (3a 2 kpyra) 1:4000 11:42 70 MUHYT
M40 8 4,3 km 19 KN (3a 2 kpyra) 1:4000 11:42 70 MUHYT
XK40 o 4,6 km 14 KN (3a 2 kpyra) 1:4000 11:33 70 MUHYT
M50 § 4,6 xm 14 KI (3a 2 kpyra) 1:4000 11:33 70 MUHYT
XK50 3,8 km 15 KI1 (3a 2 kpyra) 1:4000 11:45 60 MUHYT
M60 3,8 kM 15 KI1 (3a 2 kpyra) 1:4000 11:45 60 MUHYT
)K60 2,6 km 12 KI (3a 2 kpyra) 1:4000 11:36 60 MUHYT
aTP 2,0 xm 10 KI (3a 2 kpyra) 1:4000 11:39 60 MUHYT




